7TW

Im-—ﬁ%'ﬁﬁﬁ&r amqjaw% 3R LT W 3T UTeT e |

T LPIease read the instructions given below carefully and follow them strmtly

1. uﬂmméﬁ%@?ﬁm mmmmﬁwmmﬁﬁwﬁ#mw mm*qgr@anqmm
gy, e A B 1 afg vEn B, O oW Wl wiw g A s ettt

2. @H*-HMHT@ﬁDMFHm g3k o, 3fed TH W, Te ey 3R gleqor g a@mmn B, C?ZTIDEFF %ﬂﬂ@rt{aﬁmﬁﬁlqmmﬁmﬁl
o WA AN Hedg i |~:14-Hmﬁsrﬂl=ﬁaaﬂﬂ:‘r% | fordt oft waR R it wan/fadnfa &t ffa ¥ SeR-gh Fed o ST |

3. 39 TieT giien W A fou T ieae H STeT 3191 S foRe © mfl&lﬂrgfﬁfaﬂutaﬁ?gm?ﬁ@ |

-1

4, 39 q0ET gitaeht H 100 we9 (ve) few o Immﬁﬁ&ﬂiaﬁﬁﬁﬁw% méﬁfﬁmﬂﬂmtucgm{dm}ﬁc{m%l‘ﬁﬁ
ﬁl{qﬂucgmqﬂgrlﬁ ﬁlﬂmaﬂf ﬁ%maﬂmﬂnhwunﬁﬂ% Iqﬁmmaﬁﬁwﬁmwﬂﬁ% 1 39 Yo ol 3R ol

5. 9fc 319 fordl Y9 o1 ITR 6T o1 HTed, m#(%ﬁj%ﬁﬁwﬁmiﬁﬁml T | N
SNo.|  Response # | m’r%aiga?aﬁ‘ﬁm?arwmaﬁﬁwﬁ
1 @ ® © @ & &. 0 #,amﬁ#ﬁma#ﬁafﬁnwmr

. In case of any ambiguity in translation
7. mﬁm%méﬁ'rawﬁaﬁ% mﬂfrw@?:_wﬁa% |T|ﬁﬁm%a%q treated as final. J
Ueh ST (0.25) 3{ch <RIl ST |
8. WW%WWW%WM% T SRS TR Sfaha ST ST ah, STTIaRT Wa9T WHIOT- U5 3 W1 Ui 319l & STEnR
ey T ST-UF H 24 € |
9. A9 A Tl Yol hl ST-sieh | ¥ a1 et W%Wtﬁ ST ITN-YAF AE I U9 < | STTeh! 379 F1el o] Jiedent
Ud I-UT i el it A ST memae . o
10. Fe Y % oI voieh TeioT gfeeRT & 2id § g ¥ 1
vt B -

INSTRUCTIONS
IMMEDIATELY AFTER THE EGMMENDEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS TEST BOOKLET DOES
NOT HAVE ANY UNF‘RINTED OR TDRN DF!. MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY ACOMPLETE TEST
BOOKLET. L. N

2. Please note that it is the candidate's r&spnnslbmty to encode and fill in the Roll Number and Test Booklet Series Code A, B, C or D
carefully and without any omission or discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will
render the OMR Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet in the Box provided below. DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English. Each item comprises four responses
(answers). You will seleggt the response which you want to mark on the OMR Answer Sheet. In case you feel that there is more than one

correct response, mark the response which you consider the best. In any case, choose ONLY ONE response for each item.
5. If you decide not m:_attampt a question then darken the corresponding circle below #.

S No. Response #

1| ®B8 00 @

You have to mark all your responses ONLY on the separate OMR Answer Sheet provided. See directions in the OMR Answer Sheet. Use
only BLUE/BLACK Ball Point Pen to answer in OMR Answer Sheet.

All questions are compulsory. Each question carries one mark. For each wrong Answer, one fourth (0.25) mark shall be deducted.
Before you proceed to mark in the OMR Answer Sheet the response to various items in the Test Booklet, you have to fill in some
particulars in the OMR Answer Sheet as per instructions mentioned on the OMR Answer Sheet.

After you have completed filling in all your responses on the OMR Answer Sheet and the examination has concluded, you should hand
over to the Invigilator only the OMR Answer Sheet. You are permitted to take away with you the Test Booklet, along with candidate copy
of OMR Answer Sheet.

10. Sheets for rough work are appended in the Test Booklet at the end.

e T
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Which of the following is NOT a feature of communication?

(A) Communication is a two-way process. (B)
stagnant process. (D)

(C) Communication is a

Communication is an ongoing process.
Communication i1s a dynamic process.

= o | @ gU99 &1 Afieer T8l g 7

(A) ooy fEarl wiear & |1
(C) wywor Ry wfehar & |

Fill in the blanks with correct Preposition from the choice:

(1) Harsha was standing
(11) Madhu plays Tennis
(iii) Share the cake

(a) besides

(B) €9l SRRHEETAl WihaT & |
(D) HEYYY TAREG FiHAT & |

Swapna.
Chess.

the two of you.
(1v) He divided the property

his four sons.

(b) between

(c) among (d) beside
(A)  (1)-(a), (i1)-(b), (111)~(c), (iv)-(d) (B)  (i)(d), (ii)-(a), (iii}“(hﬁ (1v)-(¢)
(C)  ()-(c), (i1)~(b), (ii1)~(d), (iv)-(a) (D) (1)Ab). (i1)-(a), £1l1) (d), (iv)-(c)

Which of the following refers to the study of eye contact?

(A) Proxemics
(C) Haptics

P & O fopoar Gy o iRae S oemaT A & 2

(B)  Oculesics
(D) Kmesms'

(A) ......
(C) wufes™ (D)
Match the following parts of speech:
List 1 List TT }_
(a) Absence (i) Verb én
(b) Busy (1) Adverb

(c¢) Develop
(d) Greatly

(tu) Ad_]EEtWEWI: “{
_(iv) Nounn

Choose the correct answer ﬁﬂm the options given below:

(A)  (a)-(iii), (b)-(ii), ()(i), (d)-(iv) (B)
(©) ()i, (b)-(iv), (c)-(), (d). (lﬁ) (D)

(a)-(1), (b)-(iv). (c)-(iii). (d)-(i1)
(a)-(iv), (b)-(iii), (c)~(1), (d)-(ii)

Fill in the blanks with t11e correct verb that agrees with the subject in the following sentences:

(1) Each student _

(11) Neither Iiavi nor |

informed about the cultural programme.

any interest in this project.

(a) was

(c) has .
(A)  (1)-(a), (11)- (dJ
(C)  ()-(a), (11)- ('23

(b) were

(d) have
(B)  (1)-(b), (11)-(c)
(D) (1)-(b), (1)-(d)

A generally accepted opinion or decision among a group of people is:

(A) Persuasion (B) Negotiation (C) Consensus (D) Discussion
AN % 8 & Hed JHgadl @igd e a1 ffg g ® -
(A) g™ (B) uwwhmw [ gmi  (C) wHdw (D) wite=t
All the 5k:lls mentioned below are referred to as Interpersonal skills EXCEPT
‘(A) Soft skills (B) Leadership skills
~ (C) Communication skills (D) Hard skills
= g Al BIgl BI sidddiads BT & B W Sfediad (a1 & Raa @ -
(A) 93 i (B) +Aga wig
(C) HUY HIgTE (D) 3T DI
Page - 2
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11

A car has a four-digit number, such that none of its digits is 0. If you remove second or fourth digit,
resultant three-digit number is a perfect square. If you remove first digit, resultant three-digit number is
a palindrome. No digit in the number is repeated more than twice. What is the remainder left when square
of the car number is divided by 5?

U HIX DI G 3Bl &l G 39 THIK 2, 16 3B Bls 1 3 0 71 & | gfe A gL 91 919 3% B B ¢,
dl aforrdt @ il b1 dear us i A et ¥ 1 afd oy ue ofe @l g2 ¥, a1 uieorH A1 elel @) wer s
ﬁt&ﬁw(ﬁﬁﬁﬁﬂ)ﬁ%lmﬁﬁﬁ%ﬂw%mmﬁm%lmmaﬁm%aﬂaﬁ
5 9 fawviiad fear Sirem &, a1 41 99 g9dr 7

(A) 1 (B) 3

©) 4 (D) 2

Below are given a set of analogies. Which of these analuglea are NOT appmprlate'? .
(a) Ocean: Pacific :: River: Nile
(b) Zoology: Animals :: Cardiology: Brain ol
(¢) France: Europe :: China : Australia o
(A) Only (b) (B) Both (a) and (c) (C) Bcﬂ.‘h (b) and {c) (D) Only (c)
%W@mwmmw%lﬁﬁﬁﬂ—ﬁwmaﬁ%?
(a) HETEWIT : W9Td == 935 © Aa
(b) wiftT fasm @ uyl :: wEA@ET ARG
(c) Wi '{ﬁ'ﬂ[ d @ﬁaﬁ-"ﬁ[ 4T N F W
(A) aa (b) (B) (a) @ik a(f;) ?Fﬁ (C) (b (c)smi (D) Had (c)

Below are given a set of anaiﬂgles Whlch of these ﬂﬂﬂ]ﬂglﬁ‘b are appropriate?
(a) Prime : 1 :: Composite : 8 -
(b) Pedology: Soil :: Demography: Population
(¢) Sky: Cloud :: Canal : Mountain
(A) Only (b) (B} Bﬂtl] {a) and (b) (C) BDth (b) and (c) (D) Only (c)

......

(a) 9 ;1o 9 ;8 .
(b) U=tersi : RS o SewEifeEsr @ SeEE
(C) SHHIST ¢ ATEW o TEX geq

(A) Fad (b) (B,J (a) @ (b) A (C) (b) &% (¢) 3 (D) Faw (c)
"What would be tk%e:w' n%?ct two terms in the given alphabetic series: bbCCC, cccEE, eeHHH, hhhLL,
A

(A) I]PPP and qquV (B) NMQQ and gqgWWW

(C)  11QQQ and qqqWW (D) HIPP and qqVVV

& i aviHTen Siwen ¥ o & 9 HA-¥ & : bbCCC, cecEE, eeHHH, hhhLL, ........ S—s ?
(A) - 1IPPP ud qqqVV (B) 1IQQ wd qqgWWW
c..(C} IQQQ Td qqqWW (D) 1IPP wd qqVVV

H__T'What would be the 9™ term in the given alphabetic series: zYw, xWu, vUs, tSq, «+----e- '
& TS 9U S@er § 9dl U B9 B8R : zYw, xXWu, vUs, tSq, «ceeeeeen ?

(A) he (B) jlg (C) mOk (D) fTp

Page - 3
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13  Below is given a venn diagram. Irrespective of what normal belief is, the depictions in the venn diagrams
are to be considered correct. Based on this diagram, select which of the given statements have a possibility
of being true.

Statement A : Some stickers are sheets
Statement B : Some stickers are mats
Statement C : No sheets are mats

Statement D : Some carpets are stickers

Mats Carpets Sheets Wallpapers

Wallpapers

(A) Statements A, B and C only

(B) Statements A, B and D only

(C) Statements A, C and D only

(D) All Statements A, B, C and D -

%@%mﬁmw%lwf&waﬁa’wﬁﬁ %Wﬁ%m%ﬁﬁﬁwwml
T ot@ % A 0T R e gl § @ frw wod B @@ e @ e ¥, gEeh 99 St

FUTA : PB ey o &
FF B : 35 fed 428 €
F44 C : B 9fi HZ 7o 2

(A gﬁa‘ﬂﬁ?ﬂm A, B 8t C
(B) waw &9 A, B it D

(C) daad = A, C 3R D
(D) a9 A, B, C 3t D g

Page - 4
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14  Below is given a venn diagram. Irrespective of what normal belief 1s, the depictions in the venn diagrams
are to be considered correct. Based on this diagram, select which of the given statements have a possibility
of being true.

Statement A : Some oceans are canals

Statement B : No rivers are lakes

Statement C : Some oceans are there which are river, pond and canal at the same time.
Statement D : All lakes are ponds" :

Oceans

Rivers

Canals

(A) Statements A and C only
(B) Statements A and B only
(C) Statements C and D only
(D) Statements A, B and C only _

%%ﬁﬁmﬁ@ﬁmw%lﬁmﬁrwﬁwﬁﬁﬁ &Hm%@ﬁﬁﬁwﬁawﬁaﬁﬁﬁrwmaﬁm
aﬁaﬁaéﬁaﬂuﬁmﬁqmmﬁﬁﬁﬁmmmmﬁgﬁaﬁﬂw% & T iU |

FOT A : PE HEENT 8L B

F44 B : B 94 WA AL B

FA C : Y TEMENH 7, ﬁ@@rmﬁﬁﬁﬂﬁreﬁ‘{ﬁﬁ%
FH D : Hﬁsﬂﬁw% |

. |

(A) B H9F A @it C
(B) Fad &u9 A 3T B
(C) whaw myd C &k D
(D) haw w9 A, B @R C

Page - 5
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Below is given a figure, in which a horse is placed on one of the boxes in a square grid of size 5 x 5.
The horse can move in either of the following ways in a single move:

(1) two boxes to either left or right side and one box to either up or down side
(11) two boxes to either up or down side and one box to either left or right side

(iii) the horse cannot step on a grey box. The horse has to stay within the grid and any move to out
of the grid 1s NOT legal. N

How many white boxes are there which cannot be covered by horse within 3 moves?

A Us AP & R E, %mﬁqzﬁaﬂ%aﬁswméﬁavhmﬁﬁﬁi%ﬁrwmﬂmw%lﬁmw
& 9w § Frafafaa o @ fedr O alid & 9@ g@ar

(i) = @ 91 ar 9Ef efT 91 SR efiT ofit Ush WHT $UT 91 A1 @l et __
(i) 2 @™ a1 9 SUT a1 9 @ S @ v @ ar | 9y e ar e
(111)%?43‘@:*&}*)@1‘3[13[hﬂﬁ?@ﬂﬁﬁﬂlaﬁaﬁ'iﬁrﬁﬁ%ﬁﬁmmmeﬁﬁgﬁﬂmﬁﬁﬁﬁﬁm

iz 4 9T BT ol B | "
Y fhad 9% @ £ 5= 3 9@ 9 91 &1 mqtﬂﬁ‘r%«mwmﬁ'?

faf'. 2

S

(A) 0 e V4 F(B) Q. (C) 3 (D) 5

How many triangles are there in the given figure?

& i ot ¥ fra Prger #7

(A) 4 (B) 6 c) 38 (D) 9

Page - 6
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In a coding scheme, each letter in a word 1s written as a letter after shifting N positions ahead in English
alphabet. where N is the number of vowels present in the word. For example, BAT has only one vowel.
so it will be coded as CBU. A five letter word LOUIE 1s taken. It is coded according to this scheme. The
resultant 1s again coded as per this scheme, and so on. this process is repeated for 10 times. What will
be the final coded word obtained?

qaﬁaﬁﬁmu“lwi‘{ﬁa@ﬂqqaiam%uﬁmmmﬁrwmﬁﬁﬁaﬁqmmﬁﬁawNwﬁwmﬁﬁw
foram sirar &, 8l N, 915 & Hio[g @l & 9@ ¢ | Sae ey BAT # &ad Us w1 ¥, zaﬁmsé;cau%m
ﬁa%‘r%aﬁwmmmwmmaﬂamLOUIEﬁwm%mﬁmu‘lw%ﬁa@nﬁ%ﬂﬁﬁmw%lw
ﬁﬁﬂﬁsﬂtﬁw%aﬁﬁﬁﬁﬁmw%ﬁ?iﬁmsﬂnﬁﬁmaﬁmwmw%lwmaﬁg
fepar gam sifqm 91 HI-—|1 B 7

(A) HOYPX (B) PSAMIJ (C) SNIJZK (D) QTZF%?J

e, e

"In a coding scheme, a word is coded as product of positions of its letters in English alphabet. However,
for the purpose of calculating product, only unique letters are considered, For example, in word FELL,
L. would be considered only once, and code would be 360 Whlch nf these words would have largest

code?"

Ueh ehIfST TSIl § Ueh 9T @, mmaﬁﬁaﬁaﬁwﬂﬁ%ﬁwﬁr%ﬁw%mﬁaﬁaﬁmm
2 | ETeiTeh, ST @Y TUFT & Ie9d § haw ATEArT Si&d @ & frar sian €, serevrEsy 9 FELL & L &l %o
Teh ST HET SO 31T 29ehT s 360 0l 298 & fopg 918 &1 IS 999 991 &I ?

(A) ACACIA (B) BASST. 1 (@), SHY (D) DADDY

In a family of six persons, two are males and remammg are females. The members are P, Q, R, S, T and
U. There are two pairs of father and daughter in the family. S is wife of Q. R and Q are siblings. P is
wife of T. U is NOT daughter of S. Below are gwen a few statements. Based on the given information,
select which of the statements is/are definitely true.

A : The two male members of ﬁ@ﬂu]y are Q and T.
B : S is mother of P. -

C: Tis H?ASD-@ sibling of Q.

D:Tis uncle an
(A) Only A is true (B) Only A and B are true
(C) Only A, B and D are true (D) Only A and C are true

m%%mﬁﬁwﬁﬁﬂﬂﬁqﬁﬁm%lme R, S. T afix U ¥\ uftary & fiyam &fiw e
% a1 SIS £ S, Qﬁﬁ%lR@RQH@T{%IPTEﬁWﬁ%lU S & gt 7E ¥ g gw %uw few ww )
& S STl % eTuR W BN-w wud Pk we @ w8 ¥R, ghm

A : ﬂ?@'{é\s'a"rwﬂwQaﬂTT%l
B : S, P& Amm ¥

C‘*f-'i‘f ? Qﬁrtﬁﬁﬂﬁlﬂ‘iﬂ%l

D: T Q% aran &

(A) haw A GEI & (B) aw A ot B wéI ¥
(C) ad A, B 3t D @&l & (D) waw A &t C 98l &
Page -7
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5 — ?
@ =1+ B) (1 L~ © (L 1= o) |k =1
L,"\_ I - -J"r

Mala is sister of Harish. Harish has two daughters: Reema and Seema. Reema is married to Satish. Rekha
is mother of Satish. Below are given few statements. Based on the given information, select which of
the statements is/are definitely true?

A : Reema is niece of Rekha.

B : Rekha 1s mother-in-law of Seema.

C : Mala is sister of Rekha.
(A) Only B is true (B) Only A and C are true
(C) All three statements are true (D) None of the three statements are true

HTAT LT B FBT & | T & & St § ﬂmaﬁtﬁmlﬁmaﬁrm@rmﬁﬂﬁﬁ%ﬁ@ﬁmaﬁw%l%
gsazﬁmﬁqmz%ﬁﬂéaﬁtﬁrﬁ%ﬁmmwgﬁﬁﬁaﬁﬂ—wﬁmmﬁﬁmmﬁﬂﬁ%ﬁ? |

A : Jmr Y@ @ e B
B;%@T,fﬁmaﬁw%n
C : 9@l @1 & 9849 2| .
(A) %aw B @1 & (B) %mmaﬁrcaﬁr% 4
(C) & wow a1 & (D) Eﬁﬁrﬁ%aﬁ%ﬁrfﬁwa‘é’rﬂﬁ%

Four security guards A.B.C.D are giving duty at four corners of a buiding cﬂmpmmd as shown in the
given figure. After sometime A and C swap their places. Then B and D move diagonally to opposite
corners. And then B and D each move one side clockwise and antl-qluekwme respectively. D and A then
move two sides each anti-clockwise and clockwise respactwelv What f[“s the current position of C?

A C

B D .

(A) Diagonally opposite to D (B) Dlagunally opposite to B
(C) Towards the left of B (D) Towards the right of A

ﬁi‘rﬂﬁﬁﬁﬁﬁ@qm%ﬁmﬂaﬁgiwmé;ha Dwﬂaﬂwﬁm%ﬁmzﬁﬁmﬁ@%ﬁ%
e A it C IR 39T W 99 ad & | 6t BWD%W%%W%&%WWBWD
s HHIT: @WWWWW%ID@RAW%WWWamméaﬂTaﬁTmﬁﬁﬁn‘é‘f%lC

A C

E
:

(A) D% g fos (B) B % &mv foe®
(C) Bomadiaix (D) A TRl &Y

Which figure will replace the question mark (?) in the given figure?

& T gt & TS 0w () % @ T B s s 7

Page - 8
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Which figure will replace the question mark (?) in the given figure?

& T Ay ¥ wyaras fag (7) B B-d sy wirentua sl ?

<5
I

#[] =

O O &
(A) 1 (B) ] (C) N\ (D)
@ \| # ) mpy 9

Given below are some statements and conclusions :
Statements : (A) Some cakes are bikes.
(B) Some bikes are hills.
(C) All laptops are bikes.
Conclusions : (I)  All laptops are hills.
(IT) Some laptops are cakes.
(III) Some cakes are hills.
(IV) Some laptops are not cakes. .
In the light of the above, choose the correct answer from the uptmns given below :
(A) Only (I) follows (B)  Only either (I) or (IV) follows
(C) Only (I) or (lll) fDl]Dws (D) Only (I) and (IV). follows
FUA : (A) g;[ﬁéh—cﬁ CIEC Y
(B) $B d1E99, YEIsdl 2 - M
(C) &I dueid, S5 £ | P
frepd @ (1) |9 duerw, gsiredr £ L
(I | dueiy, & €1
(III) &4 b 9erisar 81
(IV) @ duei, & 8 1t
SIS HIAl b GhI9l H, ﬁﬁnﬁfﬁm‘&q‘fﬂ’ﬁﬁrwgﬁq
(A) &a@ () @ st &1 (B) &« @var (1) ar (IV) e & &
(€)  Faw (I) A (Il s HCd 21 (D) Faw (1) o (IV) egat &id |

.....

Given below i 1S H stalement f{}”DWEd by three conclusions I, Il and I1I. Assuming the statement to be true,

decide which of the conclusion lngmally ’r«:r«l]{:WM(S.}‘Tr
Statement : The rise in inflation is likely to increase interest rates.
Conclusions : .
(I) There will be decline in the number of borrowers.
(II) There will be more deposits in bank.
(III) The rate of unemployment will fall.
(A) Only I follows (B) Only III follows
(C) Both I and 11 follow (D) Both II and 111 follow

.....

A v @ R T ¥, Rrad o d Frad 1 11 ofi 11 R o ¥ 1 @ @ g 9 50 99 St B aifbe

w7 § B-a1 Prepd SIgEeer HeaT ¥ B8 P s s ¥7
HUF : HATERIG H ghe ¥ = g0 9 gha & gHEE &

(1) boiardi 1 FEan § %A1 S|

(I1) &% o sErsh go|

© (1) Sy @ g firad
(A) oad | STFETT HLAT & (B) e 11l S8 HLal &
(C) 1 & 11 S SIgERT &id @ (D) I & 11 S T8 &id &

Page -
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"Ellipses are two dimensional figure. It has two focii and a major axis and a minor axis. A circle is always
an ellipse with equal major and minor axes."

In the text given above, M is the number of times, a letter has occurred consecutively (like p in dipper),
and N is number of words with four or more letters that have been repeated in the text. What is the
product of M and N?

"Ellipses are two dimensional f'gure It has twn focii and a major axis and a minor axis. A circle 1s a!wayq
an ellipse with equal major and minor axes.'

ST T T Yo § M RS ae @ us ¥ eifie 9 BEITd 9§ dleds W @ g ¥ (39 dipper & p)
3 N 9 a1 39 AU el arel 9T &l §Ed1 &, S <R H aBar 11 &1 M 3R N &l IdE &1 & 7
(A) 6 (B) 9 (C) 12 (D) 16

A total of 83 persons are standing in a queue. Between Mahesh and Suresh, there are 34 persons standing.
Which of these could be position of Mahesh so that it is possible to uniquely determine position of
Suresh? 0

A : 12" from the front

B : 415 from behind 4

C : 59" from behind"
(A) Only A (B) Both B and C (C) BothAand C ~ (D) Onl

T WET H P ssaﬁlﬁ@%%mﬁmmlﬁm%éﬁﬂaﬁﬁﬁﬁlﬁﬁﬁﬁﬂ é‘rq%srﬁrﬁﬂﬁfa‘rw—vﬁ
%mﬁﬁgﬁswaﬂﬁaﬁlaﬁﬁlﬁmm@rﬁwﬁﬁmaﬂaﬁ?

A oo g 124t
B:dqw g 414
C: qm ¥ 594
(A) wad A (B) BarxCadi  (C) A 3iix CaFf (D) %ad B

"A cube of side length 6 ¢cm is painted red on all its sides. This cube is cut into smaller cubes of side
length 2 cm. On each of the smaller cubes, the unpainted sides are painted green. Each of the smaller
cubes is now further cut into cubes of side 1&11gth 1 em. Hnw many small cubes of side length 1 cm will
have exactly 3 of its face coloured green?" -

6ﬁﬂwaﬁ@w%mﬁmﬁwwﬁwm%lwwﬁZﬂﬁﬂﬁnaﬁﬁ%—@%uﬁﬁm
ST ¥ | Y% B 99 9T 1 7 10 Gdeh Herehl &l &8¢ 01 § TN Ad1 2| Y& Bl 99 & 3d A0 | =1 9=l

Hﬁﬂﬁmm%llﬁwaﬁﬁﬁ%@%ﬁ%Swwﬁﬁw%éﬁf
(A) 48 (B) g W (C) 56 (D) 36

Below is given a pair Dl‘ quﬂ:stmns whlch El,i'E.‘ requlred to be answered, and a triad of statements. Which
group of statements 18 sufficient to answer both the questions?
Question 1 : Who 1s sitting opposite to Q7
Question 2 : Whﬂ 1S sitting to the right of Q?
Statement 1 : P and U are sitting on left and right sides of T, raspectwe]y
Statement 2 : P, Q, R, S, T and U are sitting around a round table with six chairs
Statement 3 : Q is NOT sitting on the lmmedia‘[e left side of R
(A) Only statements | and 2
(B) Only statements 2 and 3
(C) All three statements together
(D)  Questions cannot be answered even with all statements
AT W9l @l Teh SISl & TS ¥, TSR STX A1 sE9ueh & S HUA( @l Teb AT &1 g ¥ Gl WAl BT ITX &
& o0 el &1 S| 99 1A © 7
999 1 : Q % |HA @iF daf & 7

959 2: O % I HF a1 &7

F 1 : Palt U At T % o ofit ot o 3% %
Eﬁfﬁﬁﬁ"‘P,Q,R,S,TWU%@WW%W%%WW%%I
FF 3 : Q, R % Ia sl X & 931 2|

(A) Had HUF | T 2

(B) haw &y« 2 3T 3

(C) ol %99 UH 91y
(D) | Fu=f & g 9 WA &1 AL el {§°T S Gehel B
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A and B decide to travel from place X to place Y by bus. A has Rs. 10 with him and he finds that it

.ﬁ

1s 80% of the bus fare for two persons. B finds Rs. 3 with him and hands it over to A. In this context
which one of the following statements is correct ?

(A) Now the money A has is just enough to buy two tickets.

(B) A still needs Rs. 2 for buying the tickets.

(C) After buying the two tickets A will be left with 50 paise.

(D) The money A now has is still not sufficient to buy two tickets.

AR B, WH X & @Y 0% & a5 96 § B # F9ag B F1A H ug 10 %, ¥ ok 98 Ao s
2 @ UE o Al b 99 W @ 80% T B % U 3 %, fied ¥ ofR 3@ A @I gue &Y &1 o1 39 gy H
s & & @9 91 HUT "Er w7

(A) 9 A% U W IHA &, 98 & (e @R & (WU wEd sl
(B) fede @ilied & Ty A @i el ol 2 5. &l srasushar &1 |

(C) 2 femre @lad % ugar A & T 50 ¥ a9 N
(D) A%ﬁmaﬁﬁﬁm%%wﬁﬁrﬁrﬁmm%ﬁﬁﬁmﬂﬁ%

2 _:a E g
i

::‘:.._1_.
:.;‘-‘\7@.

aaaaa

Three statements are given followed by four cﬂnclusmns I [, Il and 1V. Assuming the statements to be
true, even if they seem to be at variance with cummon]y knuwn facts decide which of the following
conclusions logically follow(s) from the state*rﬁenta Wy

Statements : (A) All squares ﬂ'ﬁé' bm?{es
(B) Some boxes are coloured,
(C) Red is a colour. -
Conclusions : (I) Some boxes are red.
(IT) Some squares are red.
(I :S::g;:ne squares are coloured.
gw) _____ Some bp:@;s are squares.
(A) Only I fb—llﬂWS (B) Only II follows
(C) Only 111 fﬂlfnws | (D) Only IV follows
ﬁﬂﬁﬂ?ﬁ%ﬁﬁﬁﬂﬁﬁiﬁh JI lllaﬂ'(lvﬁqm%laimﬁa?rwnﬂﬁgq el B d 9 w9 9 §d e
q = wda B @, mﬂﬁq%ﬁmﬁ%ﬁﬁﬁm—mﬁmﬁﬁwmaﬁamﬁww%
& (A) m‘-?r 'rﬁ qiad 2|
(B) g»tsa St i ¥
(C) W TH T
frrerd < () B e @ E

) s e

C ) 3B i ¥
(IV) o siag a1 &1
(A) &ad | STET BT & (B) waw Il & &l &
(C) Faw Il FET &L & (D) Faw IV SraTel Bl &
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Mirtunjay is planning to buy a test series for the CAT exam. Following are the criteria of selection for
any online portal fixed by him:
(a) Must contain 25 Full-length mock tests.
(b) Must contain last 8 years previous year papers.
(c) Must have more than 10,000 practice questions on the portal.
(d) If any portal satisties all the above criteria except (a) but has more than 20 mock tests and. more
than 5 previous year papers then he will keep that shortlisted.
(e) If any portal satisfies all the above criteria except (c¢) but has more than 8000 practice quest%lﬂns.
and recorded class videos, then he will ask his mentor.
“Let’s crack CAT™ 1s providing online test series for CAT. It 1s providing 18 mock tests and 5 prevmus
years' Paper. It is also providing 12000 practice questions. -
Which of the following is correct for the selection of the online portal given abnve”"
(A) It will be selected (B) It will not be selected -
(C) It will be shortlisted (D) He will ask his mentor for selection.

WHCATW%W%%E%WH%WWW%Iwmaulﬁiﬁﬁ—d%@f”ﬂﬁaﬁﬁmﬂqﬁﬂ

(a) 25qyfma&1ar@rw%¥aﬁ%m%m

(b) faord 8 9l & fusel 9s=usr & dMEU|

(c)ﬁiﬁﬂlﬁﬂﬂﬁfaﬁiﬁmﬂﬁ?ﬁml “

(d) afs @5 dea (a) B BIEHT Hﬂﬁ’rqﬁﬁaﬁwm% ﬁmmwmﬁmw%&:@r{
fuew 99 & 5 ¥ o1fUs weuT &, of 9€ 89 SN Hhaml

() ﬂ%aﬁéﬁéﬂ(c)aﬁzﬁwmﬁﬂﬁqﬁa@laﬁ{nm% wfeh 3T 9rd 8000 & @ifte e weH
¢ ol oeme difsar fid fpu o ¥, o 9 omw Her & i

"&ed sheb CA "CAT%%QW%HW'WW{W%WE18w%rea?nﬁz§éraq?%5wm

aﬂw%lwaﬁuﬁizm}umwuﬂﬁrmmm%l

(A) 39 g1 Se (E) g@fﬁé’rffrrwrr
(C) 39 gefaee fepar smam (D) 9% U W ¥ 999 % fow gueml

Rony is a model and looking for a personal gym trainer. Following are the selection criteria for a
candidate to get selected for the role of a persgnai Gym trainer for Rony:
(a) Must have completed Bachelors.
(b) Must have work experience of at least 3 years as a Trainer.
(¢) If a candidate full fills criteria (a) and NOT (b) but have done a diploma course in personal training
then he will keep that perscuﬁ shortlisted.
(d) If a candidate full fills criteria (b) and NOT (a) but has done a degree course in nutrition and
dietetics then he will ask his manager.
Mikal has done a diploma course in persanal training and he has 2 years’ experience as a gym trainer
and he is a graduate from a premier institute.
Which of the following option below is correct for the selection of Mikal?"
(A) He will be select_ﬁgd _ (B) He will not be selected
(C) He will keep that pef“éun shortlisted (D) He will ask his manager.
! U Higd & 3T U 51 f99 29 &l st ® &1 VAT & T60 Us Al 59 97 I it &g Uk SHIEdt
% 999 & U 999 & Ares Fr=fafad €
(a) ©as T far e anfey |
(b) Uf¥1es & ®9 § HH-G-H4 3 99 & HF NI &A1 MU |
(c) dfs g IHIEA AMEs (a) B I BT & 3T (b) BT G Tél HIAT &, Wi AR W& § fwam
B fpar &, @ a8 99 afed & srefie sam|
(d) gl @5 IFEart AMes (b) &I TU &A1 & ST (a) B QU T8l BT &, dicd qr9vy 3iT swefeay H &l
BIE fohar 2, a1 98 19" JeC ¥ IR

"ﬁw%mﬁaﬂmwﬁTwﬁ%ﬁ‘rﬁTaﬁﬁﬁw%aﬂ?ﬁ%ﬁmw%ﬁwﬁzﬁma@w%aﬂ'{%w;@a

. W § @aE 6
P % 9ge & fau frefaieg & 9 eF-—a faees adr &7
(A) et g9 fepar smmom (B) ST Tge &l fepar o
(C) 4% 39 =Afdd I e &ih TE (D) @& A9 HF4WIX | gu
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34  Vipul is shortlisting Universities for the master’s program. He has decided following criteria for the
selection of any university:

(a) Must be situated in the USA or UK.
(b) Must provide master’s in management program.

(c) Must have a tuition fee of less than USD 30,000,
(d) If any University full fill all the criteria except (a) but is situated in Australia then I’IE:':‘_‘;ﬁfi.l\]: ask his

2 _:a E E
i

brother for the selection of University.

(e) If any University full fill all the criteria except (c) but provide at least 60% - 80% Scﬁﬁlarshlp on
tuition fee then he will ask his father for the university selection. - -

The University of Edinburg is situated in Ireland UK and provides a master’s in management program
to all National and International students. The tuition fee for the master S pmgram is USD 50,000 and

.........

provide 75% scholarship to deserving candidates.

Which of the following is true for the selection of Unwersnt}r hy Vipul?

(A) It will be selected (B) It will not be §elec’éﬂd

(C) He will ask his father (D) - He will aﬁk ‘his Brother

faga w_{W%Wﬁ%ﬁmﬁﬁﬁaﬁ%ﬁmw%l%ﬁﬁﬁmﬁm%mmﬁﬁﬁﬁaﬁ
qae o9 fhar &

(a) 9udu A1 g H Rgd sMT @meyl o

(b) YeET W § Wl WaH ST =i |

(¢) fyreror gres USD 30,000 & %" &7 =il

(d) af #iE foufaama (a) & Best o= g GFEE B QT B &, Afe sl § Rud ¥ 98 e
o & Rt % wa & R g

(e) A% B3 faufaened (c) &I BiSHT 3 GHI rrma%’r’ B QU BT &, AT g9 BIE 9T HH-—H—H7 60%
- 80% BTG Yo &Yl & 9 98 AU fuar & faufaaed 999 & fog qum

giafiel e Uiead, sateis g § Rud ¢ oiik @i T ot Siawisi sl &l YeE W o Fasal e
%lnmu‘;maa%qférm gie USD 50,000 2 & 9rg Iwfigart &l 75% B&gia Ya™ &l 2|

fagﬁamﬁrﬂﬁﬁm%w%@ﬁw%rﬁaaﬁﬁﬁﬂ—mﬂﬁ%?
(A) Eé‘?ﬂm (B) 3@ g TE wmum
(C) aﬁmﬁfﬁm%w (D) 9% 94 WIg & g

35 A batsman played (n+2) innings and got out on all occasions. His average score in these (n+2) innings
was 29 runs and he scored 38 and 15 runs in the last two innings. The batsman scored less than 38 runs
in each of the first n innings. In these inning, his average score was 30 runs and lowest score was X runs.
The smallest possible value of x is

qm%mﬂ?r%{n+2)qﬁm@ﬁraﬁiaaﬂiﬁmwmaﬁﬂmlgﬂ(n+2) uifeal § SEar afdd @i 29
"’ﬂmeﬂTwﬁa%nﬁftrrﬁﬁ‘rﬁr%aﬂ'{lﬁw 1 T fobar 41| gum n il & was ¥ deEad A 38
ﬁamim*e‘cﬁ'{ﬁﬁwa?trrﬁa‘rﬁ 3T 3iEd @I 30 T 97 Ud <JAaH ®BIX X T U911 X & H9Iad 999 BIT

qH 4
(A) 2 (B) 3 (C) 4 (D) 1
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Following is the selection criteria for a candidate to get selected for the role of Regional Sales Manager
In any organization:
(a) Must be a graduate with at least 70% marks.
(b) Must have done MBA from any premier institute in India.
(c) Must have worked for at least 2 years in the sales department.
(d) If a candidate fulfils all the criteria except (a) but has done an additional certificate of course in
sales and marketing then his/her case will be sent to HR Head. |
(e) If a candidate fulfils all the criteria except (b) but has experience of 4 years or more ~working in
the sale then his/her case will be sent to the HR VP.
Sunlt has applied for the post of Regional sales manager | in the organization. He has cmnp!e’md his B. Sc.

......

'''''

MBA with 78% mf the score.
(A) He will be selected (B) He will not be selected =
His case will be sent to the HR Head (D) His case will be sent to the HR VP

(©)

Wﬁwﬁﬁuﬁﬁwwﬁﬁﬁw%@wﬁﬂﬁ%mwmwwﬁwﬁﬁm%

(a) &9 ¥ FHH 70% 3fHl % 1Y Fash s ey

(b) WA & THdl W Y@ WU € wHaT fear g afewl

(c) ued feurede ¥ &9 ¥ &% 2 994 dd &9 fhar &)

(d) u&zﬁésnﬂmﬂ{a)ﬁrﬁwwqﬁaﬁrﬁ{nm% Wﬁﬁrmﬁmﬁﬁmﬁwm%aﬁrﬂw
gaTor U feRam & A1 SHeT HIHWT UASY &€ @bl WSl S|

(e) dfE Bz I=IEA (b) @ BIEHT GHI AMES] B YU BT &, WD (Gl J B B &1 4 99 1 399 14H
1 HIHT T, ﬁrmquamﬁrﬁrﬁﬁmm|

g‘—ﬁﬁ%ﬂim—rrﬁ%ﬁﬂﬁﬁww%w%%ﬂm%%lwﬁ%%aa%ﬂsmﬂéi@ﬁﬁﬁm%lwﬁs

wﬁwﬁﬁm%mﬁgﬁﬁaﬁwmﬁmilaﬁﬁ?swm%mﬂ@é’m@ﬁw%l

(A) & g9+ feear smam ~ (B) gt @A e e sam

(C) quam%gzﬁrﬂmm ; (D) wqurmz‘i’rtﬁaﬁﬁwm

_....

any Under— graduate program:
(a) Must have completed High school with at Eeast 39 0 CGPA.
(b) Must have been at least 17 years 8 months old as of 15 Jan 2021.
(c) Must have scored more than 85% in the university entrance test
(d) If students fulfil all the criteria except (a) but have scored more than 7.5 CGPA in High school then
their case will be sent to the Sr. Admission Officer.
(e) If students fulfil all the criteria except (b) but have more than 90% on the university entrance test
then their case will be sent to the Head of the department.
Rishabh has passed hlgh school with an 8.2 CGPA. He has scored 75% on the university entrance test
and he was born on 27" April 2004.
(A) He WEJI selected
(B) He will not be selected
(C) His case will be sent to the Head of the department.
(D) His case will be sent to Sr. Admission Officer
ﬁﬁﬁiﬁlﬁﬁ%ﬂﬁm%ﬁi@ Hza ghEfid o dfear § v e & fau el o v % 999 Ames
fefaRad
(a) mﬁwgﬂﬁﬁq%waﬂé@ﬁﬁ femar BT @IfEu |
(b) 1 wad, 2021 &1 &g &9 & &9 17 a9 8 FEW &1 EFT areyl
(c) faufaaea yagu qﬁmﬁ 85% @ arfues ofeh wra e &M =nfew
(d) Eriﬁm(aizﬁr@mﬂﬁﬁ’rmﬁaﬁliﬁr@mﬁ% wfeh B15 @hel § 7.5 AISAT ¥ HAfdH @I HLd &, df
ITehl HTHAT HIWAT USHIE STHEL &l {1 A1 |
(e) df& B (b) Bl BIsHT THI HIMES] B I B & Wik [oafqenad wdst qdem 5 90% § 3ifasd € df S

HIHET {90 & W@ $l WSl F |

%_Wﬁﬂzﬁﬁrﬂqﬁsmﬂaﬁwmﬁw%lwﬁﬁaﬁmﬁmuﬁmqﬁwﬁ?S%aﬁﬁmﬁﬁq%ﬁr{m

S 27 &y, 2004 & gam o
(A) wH® To fear smom

(B) SH&r g9 qE fmar s

(C) THHI AT {901 &% YgE bl WsIT ST
(D) IEH HHA HIFAT USHIM ATREL o6 IR WS ST
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Mandar is going to buy a laptop. Following is the criteria of selection of the laptop given by his father:
(a) Must be for less than Rs. 40,000.
(b) Must have RAM equal to or more than 10 GB
(¢) Must have Intel processor of version 13 or above.

(d) If any laptop is satistying all the above criteria except (a) then it will need his dad’s permlasmn
if it 1s for less than Rs. 45,000. *’

(e) If any laptop is satisfying all the above criteria except (b) then it will need his mom’s pé%ﬁli'ssiﬂn
if 1t has RAM of more than 8GB. NEWCOM 1s a new laptop in the market cosgiif-_R§=;_'_:38000 and
has 9GB RAM. -

It has an Intel processor of version 13. Which of the following is the Dpt!DH below is cﬂrrect for the laptop
given above? " ‘ a

(A) He will buy the Laptop. (B) He will not buy the Laptop.
(C) He needs dad’s permission to buy it (D) He needs mom’s penniééinn to buy it.
AR gmﬁm@ﬂﬁmm%lmﬁmmﬁqwﬁmﬁiﬂﬁaﬂf e frferiaa &

(a) ®. 40,000 § &5 & &1 AT A e

(b) RAM 1008%5wmw@rafazﬁaﬁrm%m

(¢) a3 i3 a1 =qF 915 & 99 @7 oW WOET B @Ryl

(d) uﬁﬁémmﬁmﬂﬁﬁwm%(a)aﬁ“ ot Al 30 319 fdT @ SIEiY @ srasadhdn
Bl afe 98 6. 45,000 § &9 &1 1 -

(©) af (b) B mmﬁaﬁmmwmﬁmﬁ@mmwwmwa&waﬁ
JTE9ghar s afy a9 EGBﬁmﬁﬁ%lNchomwﬁwwm%ﬁmﬁrﬁqﬁﬁ
38000 & 3T 9GB ™ &1

gﬂﬁ13H&hwﬁﬁﬁmﬁlﬁﬁﬁﬁﬁ%ﬁﬁ—mﬁmwﬁqmméﬁﬁmﬂﬁ%?
(A) ¥® woerg @iem : © (B) d® WU TE @R

......

(C) Eﬁaﬂﬁ%maﬁﬁﬂﬁﬁaﬁwﬁiﬂﬁqum Y @ied & fu I HEr @ S aifey |

.....

On the day ﬂ’lﬂ trlplets were bDl‘[‘I to Moti, the female dog.
() A wenghs more than B
(I1) B weighs less than C’
(I1I) Of the three ?pupp:les C weighs the most.
If the two statements are true, the third statement is -
(A) True “ = (B) False (C) Uncertain (D) None of the above
ford! f&s1 AreT g Aidr A, AT (triplets) st &l 1= A7)

(1) B % smian A & g5/ it 2|

(1) C = 3z B &7 9919 &9 |

(D) &= fuesti & ¥ C &1 9919 qaiids 2|

afg g1 HYF e, d dEU HYF -

(A) ¥d (B) or@d (C) YT (D) S9Uad § § &g A&l
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Four friends Sachin, Rachit, Raj, and Pintu live on separate floors of a 4-floor building, but not necessarily
in the same order. The ground floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 4. Sachin does not live on an even-numbered floor. Only three friends live below the
floor on which Pintu lives. Rachit lives immediately above Sachin,Which floor does Raj live on?

(A) ] st (B} 7nd {C} 3rd (D) 4th

A qRa giad, ad, U9 ol T % 4-9R 91 Haq & ST Yo 9 TEd g, %w—&ﬁﬁﬁgﬁ
%Y § B | YIS YT B G T | ¥, B YT % g 2 €, aﬁ?ﬁ%ﬁmmm%qﬁr{aﬁm4%laﬁﬂ
@wmmﬁqﬁr{mqﬁﬁm%lﬁszW{sm%wmﬁ:\%{aﬁﬂﬁﬁﬁaﬁ%lﬁﬁ afeq &
& HUT @al &1 T fhe w9 @l & 7 -

@) - B) T © W o @ @

e, e

Calculate the missing term : ™

300, 296, 287, 271, _? , 210

(A) 246 (B) 250 @244 & (D) None of these
300, 296, 287, 271, _2 ,210 . (b0 o &
(A) 246 B 250 (0. 244 (D) T &

Five friends Vaishali, Rashmi, Payak, Nidhi, and Niy’ati study in three different classes - VI, VII, and VIILI.
Each of them has a different chmce of pen like — P, Q R, S, and T, but not necessarily in the same order.

>>>>>

Not more than two or less than one study in any of the classes. Rashmi likes pen S and studies in the
same class as only Vaishali smﬂies_ i.e., VI Niyati likes pen Q and does not study in class VIII. Nidhi
studies in class VIII and does not like pen either P or T. Payal does not like pen T and studies in class
VIII. Which pen does Vaishali like?

(A) P o @S (B)_R (C) PorR D) T

urg weferar Semelt, 1, graw, F ei Frafa 9 eremr-—arem wemelt — VI, VI @ik VI 9ed €1 599 € 9d@®
ST YT & U THE HY@l © - P, Q, R, S, o T, Wit sy &1 o 360 9 H =1 fopell ot em & a1 & oty o
wﬁwmmaﬁmﬁr%lrﬁnﬁﬁ:rsw%afﬁaﬁaﬁmmﬁqﬂﬁr%ﬁmﬁw&anﬁ%‘cﬁ% T,
Vlfrlf-‘mﬁr"cﬁfi‘ﬁ(}m% 3T 9% 3T3dl el H FEl Uedl & | (i omedl dem 9 uedl s s SE P TH § &3
o ¥ T T ¥ | H1 A T s T ¥ ol g wa VI E ved 1 Aemel w B 9 TeE 7

@ P &P (B) R (C) ParR D) T

Whlch ﬂf the following cannot be a number of the series ?

"mﬁéﬁmﬁma&rmaﬁﬁm ?
“64, 125, 216, 345, 512,

(A) 8 (B) 729 (€) 27 (D) 999
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Six friends Rohit, Rachit, Rinku, Raj, Rajat, and Rishu are sitting in a row at different positions, but not
necessarily in the same order. Rohit is sitting at the first position from left while Rajat is sitting at the
third position from right. Only two friends are sitting between Raj and Rinku. Raj is an immediate
neighbor of Rohit. Rishu is not an immediate neighbor of Rajat. Who is sitting at the second position
from the left?

(A) Rachit (B) Raj (C) Rishu (D) Rinku

we iy Ufed, thaa, g, w91, W@ ot Tty s dferd § srem—ar@ T @l 9T 99 2, ﬁﬁﬁﬁﬁﬁﬂ@%{&ﬁﬁq
ﬁ%‘rlﬁﬁﬁmﬁuﬁwwéﬁl%mmmﬂﬁmwméﬁ%lmaﬁﬁgﬁﬁaﬂﬂmﬁﬁa
9 €| W, fed & Fpeaw 9= 2, ﬁawmﬁzﬁmq@r@rﬂﬁ%lmﬁwwwﬁﬁh%?

(A) g (B) = (C) fg (D) ﬁ?

Six persons Raj, Rohit, Rachit, Rajat, Rishu, and Rinku are Wﬂrkmg In aﬁ{ijfﬁi:e. Each of them has a
favorite car viz. P, Q, R. S, T, and U, but not necessarily in the same order. Each of them got a different
salary — 1000, 2000, 2500, 3000, 3500, and 4000, but not necessarily in the same order. Rajat gets a
salary of 2500 and his favorite car is U. The one who likes car Q gets a salary of 3000. Rachit likes car
P and gets a salary of 3500. The one who gets a safary of 1000 does not like car R or S. Rinku does
not like car Q or S but gets a salary of 2000. Rishu gets a salary of 4000 and does not like a car R. Rohit
does not get a salary of 1000. Who gets a salat‘y ﬂf 30007

(A) Rohit B Rij . G&IC Rmku > (D) Rachit

Be =fth T, fed, e, W, ﬁﬂﬁﬁﬁ?wmﬁwmﬁ%lmﬁﬁm%wEWW
2 aigfg P, Q, R, S, T 3fX U, @ifepe mm{lﬂﬁﬁﬁsﬁﬁqﬁﬁlmﬂ?{w —3eT daq — 1000, 2000, 2500,
3000, BSG{}eﬁTﬁl(}(}{)ﬁw%@rﬁmﬁ"@—ﬁﬂﬁrﬁﬁsﬁrmﬁélwzﬁrzmﬂaﬁﬁﬁw%afrfa‘vlﬁtrﬂél‘q'r

i fog loooaaqfham%w@rm Rar Swa@%uwaﬁmu Q a1 S g¥g 7Et & wfehT 2000 I Ther
%Iﬁﬂﬂ-ﬁ%ﬁﬂﬁﬁﬂﬁlﬂﬂ%ﬁiﬁR@?Wﬁ%lﬁ%ﬁiﬁ 1000 &= =&l fireren &1 3000 @1 oo e
T & 7

(A) Tfew (B) w (C) T (D) fud

The only ____ with the proposal is that it is a little expensive.
(A) glitch (B)  blunder (C) hardship (D) dilemma

-

Five friends P, Q,-R*; S.and T live on a separate floor of a 5-floor building, but not necessarily in the
same order. The ground floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numberf:d 5. S lives |mmedta‘[e]y above P. Only two ﬁ'lEI]dS live between S ancl T. P lives on the

(A) 51]] -5_;-;: -:"‘ (B) 2I'll:| (C) 3rd (D) 41:[1
mirﬁ:rﬂp Q R, S &l T Ush S5-9AIX & WG9 @& ST T 9T T&d &, Wi s&dl 78! b 397 &9 o &

*-Wﬁ?ﬂ?{w]% T G i GEr 2 #, o 39 diE 999 ST b T bl €@ S ®1S, P& 3@

FHUT AT &1 S 3R T & &g haw o) iy ®d &1 P 999 19 & W 9T @ar &1 Q fquw d@n ae Wi oy

98l T&dr &1 R fopE X ¢ &A1 & 7

(A) S (B) =mu (C) dmu (D) 4en
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49

50

Six friends P, Q. R, S. T, and U are sitting at different positions in a row of the company, and each of
them get a different salary viz — 500, 800, 1000, 1500, 1800 & 2000, but not necessary in the same order.
The friend who gets a salary of 2000 does not sit at the extreme end of the row. Q sits immediately before
R and gets a salary of 800. T sits between U and S. Q is second to the left of S. P sits at the left end
of the row and gets a salary of 1000. T gets a salary of 1500. R gets a salary neither of 2000 nor nf 18(}0
How much salary does U get?

(A) 1800 (B) 2000 (C) 500 (D) 500 or 2000
we i P, Q, R, S, T & U U=l &l U%h Ufth § ATT—AT TUME 9T 99 2, @Twﬁﬁmﬁm—w
oa+ fredr & =@ - 500, 800, 1000, 1500, 1800 3ix 2000, ﬁﬁlﬂﬁﬁﬁﬂﬁﬂ'@fﬁqﬁﬁrlﬁﬂﬁﬂaﬁ?ﬁﬁw
firsr dfes o eifed Bt T € 991 %1 Q, R &% 3% Ueel dod1 & &lX 38 800 da« fy@ar 31 T. U 8l S & &g
dod1 %, Q, S @ 90 ¥ gEY WF UX &1 P UleR & 9¢ B 9¥ dodr & SR 3@ 1000 adF fedr &1 T &1 1500
ﬁﬁ?ﬁﬁm%lREﬁrﬂa‘lzﬂﬂﬂéﬂﬁﬁﬁm%aﬂTﬂé’riSﬂOﬁﬁ?anﬁﬁmdlqndﬁlﬁﬁT%?

(A) 1800 (B) 2000 (C) 500 (D) 500 a1 2000

Five person P, Q, R, S, and T lives on a separate floor of a 5- ﬂ{mr bmldmg hut not necessarily in the
same order. The ground floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 5. Each of them also has a favorite subject from — Hindi, Science, Math, Art, and
English, but not necessarily in the same order. The one who lives on the second floor likes Math. R likes
Science and he lives on the third floor. The one who lives on the I{}wemmst floor likes English. P lives
on the fifth floor. S lives on the floor immediately above T. The one who likes Art does not live on an
odd-numbered floor. Who lives on the second ﬂmr'?

gfg s P, Q. R, S &R T U 5-96K % 9aT & T mﬂn'ﬁ?ﬁﬂ’(ﬁ?{% W &L el b THT %9 ° &)
TSUS AT B G | T, BE T A GE 2 &, oK o6 97 999 SUT b TN 4 gEn 5 5 oW ¥ i
&1 ygarar fowa off ® — &S fasme, wftra, s ofit oiieh, after wedl & f6 56 &9 & 211 98 =fs o qEt
T U & %, WWW%IRﬁﬁEﬁW%@TEWWWW%I% A S gedq Jd
% T 9Y TEdT 8, aﬁﬁrmm%[?mﬁrmwwﬁls T % &% FHUT g1 FX U &l ¢ | 98 Al
ﬁ%mm%%ﬁmmmﬁtﬁmmaﬁm%l@mmﬁﬁw%f

(A) 5 (B). L0 () T (D) Q

Given statement 1s followed I:;}f'::t:'wm assu‘fﬁp%?ﬂns numbered (1) and (1I). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions Ieglcatly ﬁ}ilﬂw;’s from the given statement.

Statement :  To save the environment, a complete ban on illegal mining should be imposed on the
. whole country.
Assumptions : (I)  Mining done legally does not cause any harm to the environment.
» an Mii_]in'g is one of the factors responsible for environmental damage.

(A) Only Assumption (I) is implicit.
(B) Only Assumption (II) is implicit.
(C) Neither Assumption (I) nor Assumption (1) is implicit.
(D) Both Assfﬁ'mptinn (I) and Assumption (II) are implicit.
few T Hee & 9 & e (1) o (1) f§u T ¥ | el wys &1 @E 7T §, a9 € 9 |eega: s qel
q =1yl gl 811 g e o6 & 5 anonstl § ¥ &9 91, difes &9 § f{U MY H 6 Wy WA« 2

FIT ¢ UGELOT Bl UM b (60 GC A9 H Y @ U QU Wi T S e |

En'{umz () @ 9 @ U T e @ wafer @ B 9Han TE e B

(I) @ gEEeig &fd & oo e &al 7 ¥ o 2|

- (A) %aw g (1) ffea §)
(B) haw arcon (1) ffea 21

(C) =& argem (1) 3T 7 & areen (1) FiEa &)
(D) g (1) 3 areon (1) 91 ffea B
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52

Given statement 1s followed by two assumptions numbered (1) and (1I). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : The largest computer manufacturer has reduced the prices of most of the models of
the desktop by about 15 percent with immediate effect.

Assumptions : (I) The company may incur huge losses due to the reduction i desktop pt‘lGES

(IT)  The sales of desktops manufactured by the company may increase Sigmf' cantly
in the near future.
(A) Only Assumption (I) 1s implicit.
(B)  Only Assumption (II) is implicit.
(C) Neither Assumption (I) nor Assumption (II) is implicit.

S
G

(D) Either Assumptmn (I) or Assumption (II) 1s implicit.

g 9= gdig &ar 21 99 &¢ 6 &1 72 gromen ¥ 9 %iF 49T, mﬁ‘ﬁﬁmﬁ%qwzﬁmﬁamﬂm%;

FY ﬂﬁ%m&ﬂﬁlﬁﬁ%m%ﬂfﬂﬂﬂmﬁﬁmﬁﬁ?ﬁﬁwﬁwIﬁﬂﬁﬂﬁﬁ
HUT B ¢

qreomd : (1) mmﬁﬁﬁwﬁﬁmﬁm%l

(1) @i 2 Fififa Sepein & Ryt frve wfass & &) 9¢ ot &
G Mo rems 1 il e A
(B) aa aren (1) ffea @1
(©) Hﬁ“rﬂﬁtfﬂ(l)aﬂ'{?ré}rﬂﬂ'uﬂ(lliuﬁ%‘d%l
(D) urfun(l)aﬂnrr{vn(u)aﬂ“[ﬁ%—d%l

S

Given statement 1s followed by ﬁ#’ﬂ“ﬁSSllﬂ]pli{mE?’mmbered (1) and (1I). You have to consider the statement
to be TRUE, even if it seem to be at vaglmwe with commonly known facts. Decide which of the given
assumptions logically fnlluwfs fmm the gwen statement.

Statement : Before ﬂmng f'ufl wnrk to the employees, give them work-related training.

Assumptmns 3 (1) Tralnmg I’lﬂflps the employees to increase their performance.
~ (lI) Employees do not have any skills prior to training.

(A) Only Assumption (I} is implicit.

(B) Only Assumptmn {II) is implicit.

(C) Neither Assumptmn (I) nor Assumption (II) is implicit.

(D) Both Assumptmn (I) and Assumption (II) are implicit.

ﬁqwﬁuﬂ%ﬁﬁfﬁ{’lWﬁ(l)@?ﬂ(ll)ﬁﬂﬂﬂ%lﬂﬂﬂ%‘lﬂiﬂﬂﬁﬂﬁw%,ﬁﬁﬁﬁﬂmﬁ:mﬁsﬁf
& =1 wdig gar 81 99 & 16 S 8 greenet § ¥ @i 91, ik ®9 9 U U wYs & g9 S §

FYA ;. HHANE B QU &Y 3 F UBd I b ° gafug widraer )
greemd ¢ (1) wfdreror sdeniEl @l 39% yess @i 9o H HeE wiar o
" (1) widteror 9 ggd HHANE] & UTH Blg HIA e &

; M.I(A) Syt e (1) Pl 24
(B) @aw =rom (1) e

(C) = @ areom (1) o 7 & greow (1) fafEa &
(D) g (1) 3 areen (1) =1 ffea £
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53  Given statement is followed by two assumptions numbered (1) and (1I). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : It is necessary to grow different types of crops in each alternate season to replenish
the nutrients in the soil.

Assumptions : (I) No crop can be grown for the second time in the same field.

(IT)  If a different crop is grown in the next season, the soil does not requu‘e aﬂdltlﬂhal
nutrients like fertilizers. a7

(A) Only Assumption (I) 1s implicit.
(B)  Only Assumption (II) 1s implicit.
(C) Neither Assumption (I) nor Assumption (II) 1s implicit.

S
G

(D) Either Assumption (I) or Assumption (II) is implicit.
feT U BT & qlaﬁwﬁ(l)@n(ll)ﬁﬁw%lﬁmﬁiﬁmaﬁﬂﬁwﬁ ﬂ%ﬁ%w SIG G L]

........

FUA ﬁ@ﬁﬁwaﬁrﬁgﬁ%ﬁqmamﬁwﬂﬁﬁmmaﬁwﬁmmsw%l
gromd : (1) UH 6 Ud W qEl 9 ®I e Tel 9 S @dhdrl

(1) aﬁwﬁﬁmﬁ@ﬁwmm% ﬁﬁﬁﬁaﬂmﬁﬁ@raﬁrﬁ?ﬁwﬁa’[ﬁ
saygehar el erdl &l -

(A)  Haw gren (1) FiEa

(B) haw greem (1) Hfea &) s b
(C) :ra‘rarfun(l)a?rwérerrwn(u}ﬁ%ﬁ%l
(D) @rom (1) 8fR gwom (1) & ffed €10

54  Given statement is fullﬂwed by fﬁf'd axssumptinns ﬁﬁurﬁbered (I) and (II). You have to cnnsider the statement

......

ESSUI’HptIDHS Iﬂycall} ﬁjllﬂwfs fn:}m the gwen statement.

Statement : If farmers want hetter yle!d then they should use organic manure instead of chemical
manure.

Assumptiuns-*ﬁ (T) ~ Chemical fertilizers have some bad effects on health.
- (II) Chemical fertilizers do not produce as much yield as organic fertilizers.
(A) Only As.ﬂumptmn (1) 1z5 implicit.
(B) Only Aabumptmn (Il) Is implicit.
(C) Neither Assumptmn (I) nor Assumption (1) is implicit.
(D) Both Assumﬁmn (I) and Assumption (II) are implicit.

féw 7T ses & aE & oM (1) o (1) fu wu ¥ | siraen) e &t @€ 5T, Yo € 98 gIG: S el
q =1 welta el 8 g Y 6 & i armell A ¥ @ |1, difhe w9 @ U T e % |y S g
FUT ;. F(G (G dedl S99 dIed & df % UEEE WE % WM 9T Sige @IE & FAr S e
Hﬂﬂlrli_;_;:_(l)' TRTERE TS H @RS T B gU Y9 Ul 2

() EEt EE d s deEr TE ad e St we @ A ¥
(A)  aw arn (1) frfea 3
(B) aw ameom (11) fifea ¥

(C) =4 greom (1) & 9 2 greom (1) ffea &
(D) areon (1) & green (1) =47 ffea €
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56

57

S8

39

Rajat starts walking West from his college, then Rajat took one left turn. one right turn and then another
left turn to reach his home. In which direction is Rajat's home from his college?

(A) East (B) South-West (C) North-West (D)  West

T U Hics d Ulvaq $I T I=1 & Bl 8, ﬁﬁﬁﬁmﬁmqgﬂﬁéﬁﬁquﬁmw% U,ZEE'IT
ad gedT ¢ i AT g@dl a1t 91d gsan &1 T @1 °9X 9Ed dioe o fohd feam A &7

(A) 4d (B) afAur-ufiaw (C) Ta-—uiyaw (D) dfyay

L

Saurabh walked 10 m West, took a left turn and walked 20 m. He then took a right turn arrgl walked 10
m. Then he took a left turn and walked 20 m. Then he took a right turn and walked IO m. Finally he
took a right turn and walked 40 m. How far was he from the starting point?

(A) 30 m (B) 25 m (C) 20m = (D) 18.m
"€y 10 47 ufdew &r T aear ¢, 96 gedr & oiiv 20 Hf gaar # | 6T 9% < ggar & ot 10 9 gerar &1 few

9& Teh ST S A ST & ST 20 W awar &1 T 9 T gedr € S 10 W 9wen v ofd § 9 I gIAr
AT 40 1 gaar | 98 emifve fig & fea g an?

A) 30 B) 25 ©40% o o) 184

Rajat walked 20 m towards East, took left turn andwalked 20 m. Then he took a right turn and walked
20 m. Then he took a left turn and walked 20 m. He again took a left turn and walked 40 m. Finally,
he turned to his left and walked 20 m. In whiﬁg direction is Rajat facing finally?

(A) East (B) South-West ~  (C) “South (D)  West

o qd @1 SR 20 H g g, mw%eﬂTZOﬁjm%lﬁﬂaﬁaﬁw%aﬁTZUﬁm%lﬁﬂ
g% aTd TEaT & oK 20 F awn ¥ 98 uh 9 AR @ 9 gear # aiR 40 f wwar 31 o §, 98 o a1 ok
qedr & 20 @ AT ¥ ofd § Tod @ 9@ e faem 6 ¥ 7

(A) 4d (B} g&w—uﬁéaq - (C) =iy (D) dfye™

Gaurav walked 60km Vﬁestﬁand then tmk a Ieﬁ turn and walked 60km. He took a left turn and walked
20km. He took a left turn and walked 20km. He took a right turn and walked 20km. He again took a left
turn and walked 20km. ?lnally, he turned to his right and walked 20km and stopped. How far is Gaurayv
from his initial position?

(A) 30 km (B) 25 km (C) 20 km (D) 18 km
ﬁwﬁﬂ%ﬁ@wﬁmm%@ﬁﬁmmw%@Rﬁﬂﬁﬁﬁraﬁm%iﬂmw%ﬁzﬂ%ﬁr
aedl &1 98 aTd gear & X 20 fed awar ¥ 9% o gear & v 20 el gwar ¥1 9% us 9 fee e gean
& 3TX 20 fordY aetan &1 o #, 9% oo e ST gar & oT 20 el st ¥ ofiT T o 1 WiRa s wrifies
W ¥ feat guE?

(A) 30fH (B) 25 W (C) 20 (D) 18 fpshr

A worker starts walking from his office. He first walks 40 meters South, and then 30 meters West. How
far is he from the starting point?

(A) 45m (B) 55 m (C) 48 m (D) 50 m

waﬁﬂaﬁmﬁﬁﬁ@rﬂwgﬁaﬂm%laﬁ%@rmrﬂamﬁmaﬂ?ﬁﬂmﬁmqﬁmzﬁaﬁm

B 9 omifhe fag & fea g B 7

(A) 45+ (B) 55 (C) 48 = (D) 504
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The following question, contain four problem figures and four answer figures. Select a figure from
amongst the answer figures which will continue the same series as given in the problem figures.

frefafad wea o 9y gwen smpfaal iR 9 ST il & | SO ondfadl § A TH UH SNpid & I9T BL
S SET G Bl S T S geen angiadt ¥ & Mg 2 :

Problem Figures (T9& Gﬂ@ﬁlﬁ)

A) (a) B ® © @ D) (d)

The following question, contain four problem figures and four answer figures marked (a), (b), (c), and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the

problem figures.

Frefafad weT o 9T gu@n agfaar @i fmw angptaat €, f=at (a), (b), (c) X (d) fafea far mar )

IO PR § F W U AP BT AT B S TH AT B A TGN WA G Pt F & T R

Pmblam’iji_g:u.re;(%‘lw afrpfera)

—o [e—ml =
— o | —¢ |e—o | —
Answer:.ﬁig@.res (ST aTTepfaar)
. :.-h: S ' . .
. (a) (b) (c) (d)
(A) (a) (B) (b) €) (¢ (D) (d)
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62  The following question, contain four problem figures and four answer figures marked (a), (b), (c¢), and

(d). Select a figure from amongst the answer figures which will continue the same series as given in the

problem figures.

Frefefad wew o o guwn ansfaal &R 9 SOT anapfadr &, f=a (a), (b), {c}@ﬂT(d)%r%ﬁﬁ?ﬂj_T@T%l
IaY Hpiadl § | 39 Udh AR &l I mlmﬁﬁ@ﬁﬁﬁﬁﬁ?@?ﬁ?ﬁmﬁﬂ@wf{%ﬂé%l

Problem Figures ('HW “@ﬁ'ﬁ)

< LA

Answer Figures (3a7 i)

(a)

(A) (a) B) ® Tus Oalcp (D) (d)

63  The following question, contain four problem ﬁgurés and four answer figures marked (a), (b), (c), and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the

problem figures.

ﬁﬂﬁiﬁﬁﬁﬂﬁﬁwma@w:ﬁ?ﬁﬁﬁmwﬁlﬁ%,wm), (b), (c) 8T (d) fafea fear m 2|
TAT piadl ¥ W OF UH SApia bl GG B Sl S€ WIS bl W T S gHer sngfaal § & T8 ¥

Problem Figures (q9@n sugfaai)

O4a¢OS ”ﬁ@@@@ N\

Answer .-fFiguI‘E S (W Em%;ﬁ-qf}

F4O004OBoSN0SEK

(a) (b) (c) (d)

(A) (a) (B) (b) (C) (¢ (D) (d)

Page - 23

(¥ scanned with OKEN Scanner



64

The following question, contain four problem figures and four answer figures marked (a). (b). (c). and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the
problem figures.

Frefofad w9 & =t gaen amsfaat i 9t 3y amsfaat €, fer (a), (b), (o) 3T (d) fafea fear mr €

IO AThIadl H ¥ IH Ueh HTBIA B TG HL o I A Bl AR @ S G9>T Srhiadl o < 1§l

Problem Figures (H'HWI ﬂ@ﬁ'ﬁfﬂ

Answer Figures (X GTIQ'TFrI'Cm

Z [ 2
b b B B

(A) (a) (B) (b) w2 ) ) g (D) (d)

The line graph shows the road accidents happened in three different cities in India. The Y axis in graph
represents the number of accidents happened [n whlch year the difference between the accidents in City
A and City C 1s minimum? |

% WIS TE WA § A oo e § 5 gse gl @i aviar ¥ | ufed goeel @ gen @ we §
Y @& qgrar & | feew ad gt A ofR ser € o gEeell & a1 ofay WgHew & 7

1993 1994 1995 1996 1997 1998 1999
- Years

—@— City A —— CityB —— City C

(A) 1997 (B) 1996 (C) 1995 (D) 1994
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69

70

71

72

There are 8 patients in a hospital. The average weight of the 7 lightest patients is 45 kgs. and the average
weight of the 7 heaviest patients 1s 52 kgs. The difference between the weight of the heaviest and the
lightest patient is

A § 8 UM ¥ | 7 9e9 wed QO &1 oiEd g9 45 fharm & 1 o 7 999 9l Afry &1 eied 9=+

52 fhelr™ & | 999 9T 31T 999 &wh LA o dold & 91 &1 AdL hd=Tr & 7
(A) 47 (B) 48 (C) 49 (D) 50

Total 25 students appear for an examination. Rahul and Mohan are among those 25 students. Rahul scores
08. The average score of the 24 students other than Mohan is 48. The average score of ali the 25 students
1s 2 more than the average score of 24 students other than Rahul. How much MDhﬂl‘l has scored?

ush qden § Fe 25 wiE suhyd B ¥ 199 25 Bl § WEd ol A o anf ¥ | Ee @ @hit 98 ¥ | Hie
& SfATal 3 24 WISl BT e @i 48 B IHﬁZﬁWWWWT@Hﬂ%ﬁW%W%WE@R

g 2 eife & | "igd J fhaem @i fear & 7 e
(A) 72 (B) 86 © 9% £ (‘D)”’._sz

aaaaa

The parents have m number of children. The average age of father, mother and m children is 20. The
father 1s 48 years old, and the average age of mﬂth&r @ﬂd m children |s 16. The number m (numerical
value) 1s

TR % oA 1 e m ¥ | e, W ot m sedt @ ot arg 20 % | e @ oy 48 a9 ¥, @i e
3T m a=at @ ofEd oy 16 ¥ | HEw m (FEis °H) feaa € 2
(A) 3 B) 6 o ©JC) la W) (D) 2

..{c e

A is twice as old as B and C is thrtce afs thi‘ as A, If A‘*s age is 2 years less than the average age of all
three A, B and C, then C's present age, in years, is

Al &g B E ATH & &K C bl g A H A T & Iﬂf’&'ﬁiﬁ‘raﬂgh B @it C dFf & fad emg 9
2o ¥ ¥, @ C B adu ong, aﬁi‘rﬁmﬁr% i

>>>>>

(A) 10 (B} *; v 8 (D) 12

Twelve years ago, the agf:: of the fathf:r was three times the age of his daughter. After twelve years,
father's age will be twice than of I]IS dau;,hter The ratio of their present ages is

mﬁq&ﬁmﬁmaﬁﬁﬁmﬁﬁmﬁaﬁ|W€aﬁwﬁmaﬁaﬂaﬁ3ﬁﬁﬁﬁm@%ﬁ{ﬁr
BT | T adH S &1 STuld H g ¢
(A) 4:7 (B) 277 (C) 43 (D) 7:3

A mother has decided to Sum and product the ages of her children Ishan and Anushka. The sum and
product of their ages are 18 and 56, respectively. The solution of which quadratic equation gives the
possible ages of Ishan and Anushka?

@W%Wﬂﬁﬁiﬂﬁﬁ?ﬂwaﬁmwmmaﬂrwﬁwﬁwﬁm% | BB AT HT A

3l e wAs 18 it 56 ® %ﬁ%ﬂﬁﬁwmméamﬁﬁﬁwaﬁwﬁﬁmw% ?
(A) x2+56x—18=0 (B) x2-56x+ 18 =0
(® x%.__i;+i_18:r: ~56=0 (D) x2—18x+56=0

tha@ twice her present age. Vidhi's present age(in years) is

| ad v o R 2 o (2t ¥) ol o @ o A AR B S g w1 e Sad adE o %

q 1 ot & | fafy & aawe oy (aui ®) fRaer & 7
(A) 4 (B) 6 C) 8 (D) 10
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76

77

78

Xisa% morethan Yand Yisb% lessthan Z. If X > 0. Y >0, Z > 0, and X > Z. the relation between
aandb is

X, Y9 a% i 2 @i Y. Z8 b% w2 13 X>0,Y>0,Z>08 X>Z d adiikx b dg &
ey ¥ 7

(A) 100a < b(100-a) (B) 100a > b(100-a)

(C) 100a > b(100+a) (D) 100a < b(100+a)

2 _:a E E
..:-\:-'__:_-

Mr. Harshal spends 40% of his savings on the medical expenses for his wife Mrs. Bhashaﬁ He also spends
20% each of the remaining amount on his three daughters on their education. From the remammg amount,
half of it was spent for a family trip and the amount remaining in his saving account is Rs 12,000. How
much money did Mr. Harshal had initially? -

o, maﬁaﬂﬁaﬁw%aﬁqﬁ%ﬁqﬁrwéﬁﬁlﬁmw@aﬁ!% |@H‘m;11ﬁ1$r2{}%mﬁﬁ’ﬁ“r

Sfedl &yl @ fren ot @E & @ |3ﬁt®Tmmmt§5wﬁmﬁmmﬁiﬁl§@ﬁﬁmaﬂTm
Rs. 12,000 Tyt 35 d=d @ o & | HI. m%mg@ﬁwmrﬁ? /

(A) Rs. 50,000 (B) Rs. 1,00,000 (C) - Rs. 1,50,000 (D) Rs. 2.00.000

The ratio between the prices of two bicycles is 15:26. If the price of first is increased by 10% and that
of second by Rs. 550, the ratio between the prices is 13:22. What were the initial prices of the two
bicycles? -

.5,\._

il aﬁ@éﬁ@maﬂa‘qu 1322‘%%:3?‘61% lﬁmﬁﬁﬁmuﬂmﬁmwm ?
(A) Rs. 7359 and / 3fi¥ Rs.3652 - “ (B) Rs. 4290 and / X Rs. 7436
(C) Rs. 4719 and /3T Rs. ?.ggﬁ.“‘-é- . (D) Rs. 5629 and / 3T Rs. 8539

e

Rs. 1200 is divided among X, Y ancl Z aucl; that Rs. 30 more than 3/5" of X's share, Rs. 10 more than
2/5t of Y's share and RS 20 more than SJ?th of Z's share, all are equal. What 1s Z's share?

......

Rs. 1200 &l X, Yﬁﬂzﬁgﬂwﬁiﬂﬁﬁﬁﬁmm%%xéﬁﬁméﬁmﬁwﬁm 30 #tfyes, Y & 9T
¥ 2/59 & Rs. 10 afirs alw Z % 9w % 5/79 Wi & Rs. 20 aifass, g9 s ¥ 1 Z &0 90 oo & 7

(A) Rs.299.698  (B) Rs. 560.175 (C) Rs. 340.116 (D) Rs. 134.07

-:.;--

Ram and Sham tngether have Rs. 285. It 2/3" of money with Ram is equal to 3/5" of money with Sham,
then what is the money with Ram?

waﬂtsﬂqé‘ﬁmﬁwﬁw Rs. 285 % | afg T & 9r@ &9 7 2/3 99 & 9TE 99 & 3/5 & 90ET &, dl
m%wﬁlﬂ?ﬁw% ?

(A) Rs. 15[} (B) Rs. 200 (C) Rs. 85 (D) Rs. 135

Two busses are at two different places 76 km apart. They start moving towards each other. If their speeds
are 20 kmfhr and 18 km/hr respectively, after how much time will they meet each other?

“'(A) 2 hrs (B) 2 hrs 50 mins (C) 3 hrs (D) 2 hrs 30 mins

2w 76 ToRHT @7 g U &7 STET-SIET WAl UL & | I U gEY hl AT 967 @dl & | afy IAD! I HEaT:

20 fopdY wfe wer ofie 18 fopdlh wfty =1 &, a1 9 us-—gal @ fban 9wy @ faeil 7
(A) 2Ee (B) 2 e 50 fime ¢y 3 (D) 2% 30 fie
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79

80

81

82

83

84

Two trains are moving in opposite direction. First train is 150m long and its speed is 40 km/hr and the
length of second train 1s 170m. If they cross one another in 4 seconds. what 1s the speed of the second
train?

(A) 248 km/hr (B) 320 km/hr

(C) 100 km/hr (D) 160 km/hr

31 ¢4 faudia feem # 9@ @ & | vgar & 150 . aﬁr%ﬁwﬁnﬁrwu&rdﬂ%ﬁr%aﬁ{eﬁﬁﬁﬁm
170 1. & | al¢ 9 U% AL B 4 Hehs H U HA ¢, a1 gad o B A HTE 7 .

(A) He1 wfaq 248 feer (B) e ufr 320 fsrdy a7
(C) =1 gfd 100 fepet (D) w1 ufy 160 et o B

A man covers distance of 1400km in 80 days resting 10 hours a da}f If he rests 16 hﬂurs a day and walks
at 2.5 times the previous speed, then in how many days will he uﬂver 1000 km'?' v v

(A) 35 days (B) 20 days (C) 40 days (D) 50 days

U SATEH gfafed 10 €S oW S gy, snﬁrﬁﬁ'1400%@@num<ul%mﬁa@uﬁ1ﬁmw&m
HYA1 & o fuwedt nfq @ 2.5 0 W & e &, @1 9@ 1000 f6H Hr gl R oA § @ wom ?

(A) 35 f= (B) 20 f&= (C)40fw o (D) 50f

A fraction becomes 3/5, if 3 i1s added to both numerator and dennminh‘mn And., it becomes 1/2 if 5 is
subtracted from both numerator and denominator. What is the fraction?

H&'ﬂﬁTaﬂtﬂﬁﬁSﬁgﬁmmﬁl%ﬁmmﬁﬁﬁﬁ% zawwﬂ?ﬂa‘m’rﬁ%r 5 "2 9T 9§ 1/2
(A) 21/37 (B) 7/9 Nl (g) *‘“:49?%? (D)  9/11

There are three fractions. When._lheﬂargest fracﬁ{}ﬁ:iis divided by the smallest fraction, the result 3/5 1s

>>>>>

between the largest and the Iﬂ]ddlE frat:tlﬂn’?

dar = 2 |mﬂﬁﬁ%ﬁﬂaﬁﬁrﬂﬁﬂﬁﬁmﬁﬂaﬁﬁmw% ar gieems 3/5, 7eg 9= 9 1/3 st

.....

e & mﬁﬁiﬁﬁaﬁtﬁﬂB % |Hﬁaﬁﬁﬂwﬁﬁ%aﬁﬂﬁmﬂmﬁm ?

(A) 142/13 (Bg}_. 109/120 (C)  69/25 (D) 49/40

The product of two ﬁ*actmns is 5/4 and their quotient is 4/20. If the denominator of one fraction is
2/5 times that of the others fraction. then what is the sum of the two fractions?

1 =1 @1 UHE 5/4 % 3T SH MTha 420 1R T e e g MR S e w25 TR, @ A
f‘iﬁlaﬂd’mm%?
A) 3 M (B) 6/5 (C) 2/3 (D) 1

The sum of numerator and denominator of a fraction is 5 less than thrice the denominator. If the
numerator and denominator are decreased by 2, then the numerator becomes half the denominator.

hDEtEITﬂ]]]E the fraction?

qm%éammﬁamﬁmm%%gﬁﬁﬁm% | afe ier o B H & 2 wer famr Wy, A siwr B @

o B S @ | e i sy 7

(A) 4/7 (B) 4/3 (C) 5/9 (D) 3/4
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Directions for the following 4(four) questions no. 85 to 88 :
The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

fafataa 4 (am) we=ish (9. 85 9 88)  foru s ¢
Fr=iferiad 4 U9ATsT STl & ffeiag aitese g smenid & 3iT SiUsiT HT9T & S1eM & qieor & fau & | o : sﬂu&mﬁﬁm
f&=st g1 @Y foar s wr ® |

Scientific studies can remind us of our kinship with animals, but on their own they cannot help us uuder&tand
the me&nmg and importance of that kinship. nor its moral and pﬂlltma] implications. For this, we need to
examine our concepts and ideas about animals — a task that requires philosophy.

As children grow up, they learn to think in terms of a variety of dichotomies, such as man and heas{; nature
and reason. The job of the philosopher, Midgley argued, is twofold. A philosopher must examine the way these
dichotomies work on our imaginations, and affect our ways of acting and being; and must artlculate or bring
forth, new images that will free our_imaginations from their hold.

Humans do. of course, have exceptional capacities that make them dlfferem from, and a!m espemally dangemua
to, other kinds of animals. The idea that humans are different must be respected. ‘We are not alone in eafing
other species, or In huntmg and hurting them for play, as all cat lovers know, But language transforms these
natural activities and gives us the power to alter our enwmnmanl In ways 1hat gﬂ far beyond that of other
animals.

Elizabeth Anscombe, wrote about the ways in which the acquisition of language affects human life. She noted
that there are some thlngs you can get a person (or indeed a dog) to do without language. But if you can get
them to make a promise or sign a contract — two actlwnes reliant on human language — the possibilities for
involving them in your plans become vast. _

Advanced technology. industry, culture and art depend on the snrts Df cﬂﬂperatmn that would be impossible
without human language. And each of these alters the way our natural animal instincts are realised in the world.
Money, banking, commerce and trade allow our animal desire for warmth and shelter to be realised through
hoarding resources. Territorial instincts, common to most animals, are reshaped through property rights. We
farm at an industrial scale and eat other animals not just because we are hungry, but because to do so culturally
signifies wealth or status. . .

Though it 1s our language that make& us thﬁ: most clangﬂruus of all the animals, Midgley thought it was
nevertheless in language — rather than in science or technology — that our environmental salvation must lie. In
her book Science and Poetry, she writes abﬂut the way i which metaphor and metre can return us to our

childhood perspective — to lmkmg under the fenr.:e that separates humans from other animals.

85  Which statement deserrbes the wurd ‘Dual"?
(A) The possibilities for uwnlwng them in your plans become vast
(B) And each of these alters the way our natural animal instincts are realised
(C) The job of the plnh}scrpher Midgley argued, is twofold
(D) Metaphor and metre can return us to our childhood perspective

86 Find the closest synonym of the underlined word from the given sentence:
Scientific studies can ra;mnd us of our kinship with animals.
(A) Lineage . (B) Gregariousness  (C) Coalition (D) Companionship

87  Identify the verb ﬁ_‘_{)ﬂ‘l the given options based on the given sentence.
But language transforms these natural activities and gives us the power to alter our environment in ways

that go far beyond that of other animals.
(A) Actiﬁitieg (B) Transtorms (C) Ways (D) Beyond

88  Which ﬂf the following options best describes the given statement?
~.~We farm at an 111du5trlal scale and eat other amma]s not just because we are hungry, but because to do

(A) Human I::emgs consume meat in a large scale

(B) Abundance and prestige drive human beings to act independent of their needs
(C) It is a common practice to eat animals whether one is hungry or not
(D) Most of the farming is done only for commercial purpose
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Directions for the following 4(four) questions no. 89 to 92 :
The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

Fr=fafaa 4 (am) ge=ien (9. 89 & 92) & fow fdan
frefefaa 4 wemier vl & M=aiad gfese 9T e € ST SIUs 9797 & 9199 & YU & [od & | o7 seuameﬁe?r
ﬁ%mﬂﬁﬁmmﬁr%

plays. It moves upon the verge of an abyss and is a constant struggle between life and death. T_‘__he _e.etlen IS
desperate, and the reaction is dreadful. It is a huddling together of fierce extremes, a war of opposite natures
which of them shall destroy the other. There is nothing but what has a violent end or violent beginnings. The
lights and shades are laid on with a determined hand; the transitions from trlumph to deepelr from the height
of terror to the repose of deeth are sudden end startling: every passion hrmge in its fellow- eentrery, and lhe
forbidden things, where the ground rocks under our feet. Shekeepeere s genius here took its full swing and trod
upon the farthest bounds of nature and passion. —William Hazlitt, Characters of Shakespeare’s Plays Macbeth
completes William Shakespeare’s great tragic quartet while expendlng& eehemg, and altering key elements of
Hamlet, Othello, and King Lear into one of the most terrifying stage experiences. Like Hamlet, Macbeth treats
the consequences of regicide, but from the perspective of the usurpers, not the dispossessed. Like Othello,
Macbeth centers its intrigue on the intimate relations of husband and wife. lee Lear, Macbeth explores female
villainy, creating in Lady Macbeth one of ‘Shakespeare s most eemple"x powerful, and frightening woman
characters. Different from Hamlet and Othello, in which the tragic action is reserved for their climaxes and an
emphasis on cause over effect, Macbeth, like Lear, locates the tragic tipping point at the play’s outset to
concentrate on inexorable consequences. Like Othello, Macbeth, Shakespeare’s shortest tragedy, achieves an
almost unbearable mtenelty by eliminating subplots. inessential characters, and tonal shifts to focus almost
exeluswely on the crime’s devastating impact on husband and wife.

What is singular about Macbeth, compared to the other three great Shakespearean tragedies, is its villain-hero.
If i[emlet mainly executes rather than murders, if Othello is “more sinned against than sinning,” and if Lear
is “a very foolish fond old man” buffeted by Surreundmg, evil, Macbeth knowingly chooses evil and becomes
the bloodiest and most dehumanized of Shakespeare’s tragic protagonists. Macbeth treats coldblooded,

premedtteted murder from the k:l]er s perspeetwe H.ﬂt]ﬂlpﬂt]l]g the psyeheleglee] dissection and guilt-ridden

............

89  Which of the fel]ewuw werds frem the pessege convey the meaning ‘the action of killing a king’?

(A) Regicide (B) Usurper (C) Protagonist (D) Executes
90  Match the characters in column | with their description in column 2
Column 1 Column 2

(a) Hamlet (i) Sinner

(b) Othello _ (i1)  Coldblooded

(c) Macbeth y. {_lu) Foolish

(d) King Lear -~ (iv)  Executioner
(A)  (a)-(iv), (b)-(ii1), (¢)-(ii), (D)~(1) (B)  (a)-(i1), (b)-(iii), (c)-(1), (D)-(iv)
(C)  (a)(iii), (b)- (ll) (©)-(i), (D)-(iv) (D) (a)-(iv), (b)-(1), (c)-(i1), (D)-(ii1)

91  Which of the fe_ﬂewmg inferences can be made from the lines “What is singular about Macbeth, compared
to the other three great Shakespearean tragedies, is its villain-hero.”
(A) No kind of comparison is drawn between the four tragedies written by Shakespeare.
(B) Among the four tragedies written by Shakespeare, Macbeth is less of a tragedy.
(C) _ The protagonists from other tragedies are less coldblooded than Macbeth is
(D) Unlike the villains from other tragedies, Macbeth is vengeful and ambitious in his plans.

92  Which of the following statements do NOT find a support in the given passage?
~ (A) King Lear and Hamlet are longer when compared to the tragedy Macbeth
“(B) The climax of the plays Othello and Hamlet showcases the element of tragedy
(C) The contrast element is less in the other tragedies than that is seen in Macbeth
(D) In Macbeth, the reactions are terrible, and most actions depict a despair
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Directions for the following 4(four) questions no. 93 to 96 :
The following 4 questions are based on the following passage in English to test the comprehension of English
LLanguage and therefore these questions do not have Hindi Version.

Frefafad 4 (am) ge=ish (3. 93 | 96) F o fFeer
ﬁmﬁaﬁaﬁdﬂamﬂaﬁvﬁ%ﬁmﬁlﬁgﬁwﬁﬁﬁmwaﬂa%@Rﬂﬁ?ﬁwﬁa‘rmaﬁuﬁw%ﬁﬁm% | 3T 39 WIS Bl
f&=aY ure &Y fear o wr B

India is the second largest producer of fish in the world, employing over 14 million people in fishing and a uaculture.
Increasing pressure on fish stocks, overcrowding of boats, pﬂi‘/utmn degradation of habitats and destructive fishing
Eracnccs threaten the ecosystem and livelihoods of millions. Nearly 70 percent of t;‘y-catch i.e. unwanted fish cul]ected
y fishing vessels is typically discarded to make way for commercially-important fish species. However, the ability of
our seas to replenish depends on the survival of this juvenile fish. When traditional diamond-shaped nets are in water,
the gaps in the nets compress, leaving little room for smaller fish to escape. However, the square shaped mesh retains its
shape in the water and juvenile fish below a certain size can escape through the gap in the nets.
The square mesh net was introduced in Sindhudurg region through a partnership between the Government of
Maharashtra and the United Nations Development Programme (UNDP) which aims to demonstrate that biodiversity
conservation of coastal areas and sustainable livelihoods can go hand in hand. The partnership is supported by the
Global Environment Facility (GEF).
The partnership brought in technical expertise from the Central Institute of Fisheries Technology, working closely
with local fisherfolk to introduce the square mesh net in the cod end of trawl gears in Sindhudurg. Met with initial
scepticism in this important fish landing centre, the initiative has gﬂne a long way in becoming something that
fishermen have embraced in their journey to sustainable marine fishing. Since 2015,,, every trawler in the district now
uses square mesh nets.
The new technology has increased income by INR 10,000 (US$152) each month because diesel consumption has
declined. On an average catch of 18 kgs, it is estimated that the square mesh allows over 3 kgs of juvenile fish and
other aquatic mammals to escape, important for the survival of the seas. At first, fishermen were worried that the
new nets would exclude big fish and their catch would decline but during the trials they saw how it worked. The
nets are gaining popularity and net makers in the region are now being trained to stich square mesh nets for use
by fishing trawlers along the state. Witnessing the movement underway in Sindhudurg where over 300 trawlers have
adopted more sustainable fishing practices, Maharashtra’s Fisheries [ Ieparrmenl has now issued an order proposing
the mandatory use of square mesh nets fnr all I? 00{} trawlers in the region.

It IS earnmg them higher incomes, prc}tectlng marine biﬂdwarsny ancl paving the way for pullcy change in one of
the country’s most important ﬁ*;hmg coastlines. 9

93  From the passage identify the TRUE and FALSE statements?
(a) Using square nets by fishermen can curtall overfishing.
(b) The practice of adopting square nets is financially sustainable.
(c) Fishermen were always enthusiastic about using square nuts.
(d) Young fish cannot survive when farmers use square nets extensively.
(e) In the near future, many states are likely to insist that fishermen use square nets.
(A)  (@~T), (b)-(T), (©)A(T), (d)-(F). (e)-(T)  (B) (a)-(T), (b)-(T), (c)-(F), (d)-(F). (e)-(F)
(C)  (a)-(F), (b)(T). (e)-(F), (D)(T). (e)(T) (D) (a)(T), (b)-(T), (c)-(F), (d)-(F), (e)-(T)
94  Which of the following can be inferred from the statement “Since 20135, every trawler in the district now
uses square mesh nets”? :
(A) Fishing has become sustainable in Sindhudurg since 2015.
(B) After 2015 in Sindhudurg farmers were allowed to sell only big fish.
(C) Before 2015 sale of only juvenile fish dominated the Sindhudurg fish market.
(D) There was a very strong movement by farmers against square mesh nets in 2015.

95  Which of the ﬁ}llnwmg inferences can be drawn based on the lines
“The new technology has increased income by INR 10,000 (US$152) each month because diesel
consumption has declined. On an average catch of 18 kgs, it is estimated that the square mesh allows
over 3 kgs of juvenile fish and other aquatic mammals to escape, important for the survival of the seas™?
(A) The new technology adopted is leading to the escape of 3 kgs of juvenile fish.
(B) Square mesh nets are profitable for the farmer and his savings will also increase.
(C) When diesel consumption and juvenile fish capture increase, it is unsafe for marine biodiversity.

(D) By adopting square mesh nets all farmers will capture at least 21 kgs of fish.

96 Which of the following sentences from the passage holds the word which conveys the meaning “Have
doubts about the truth of something™?
(A) Met with initial scepticism in this important fish landing centre, the initiative has gone a long way.
(B) Mabharashtra’s Fisheries Department has now issued an order proposing the mandatory use of

square mesh nets | _ o |
(C) Biodiversity conservation of coastal areas and sustainable livelihoods can go hand in hand
(D) Net makers in the region are now being trained to stich square mesh nets
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Directions for the following 4(four) questions no. 97 to 100 :
The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

frfataa 4 (=) geHien (3. 97 | 100) & oo 29 ¢
Fr=Tetiad 4 99191 STUSl o feiad aieess U Semiid & 3 SIS 19T & S1e & gL & fau & | or: *ﬁuamaﬁﬁr
&=y ure 78I femr s wEr R

The rich have many assets; the poor have only one—their labour. Because good jobs are slow to come t{_;is the
poor, the poor must move to find productive employment. Migration is, therefore, the most effective way to
reduce poverty and share prosperity, the twin goals of the World Bank. Not surprisingly, all development
experiences and growth episodes in history have involved a reallocation of labour across space and sectors
within countries. .

According to ‘Moving for Prosperity: Global Migration and Labour Markets’, however, some of the biggest
gains come from the movement of people between countries. Migrants® incomes increase three to six times
when they move from lower- to higher-income countries. These gains remain largely notional because most
people cannot move. Only about 3 percent of the world’s population live in a country in which they were not
born, a proportion that has not changed much over six decades of otherwise unprecedented global integration,
via trade, investment, and knowledge flows. Distances in space, culture, and language are inherent impediments
to mﬂblllty The most important barriers are, however, national borders. '

The gains for immigrants do not come at the expense of host countries because the hosts benefit from the
complementary skills that immigrants bring, or because hosts are consumers of the products and services
immigrants provide. Almost every emplrlca] study finds that increased labour mobility leads to large gains for
the immigrants and positive overall gains for the destination country. That creates a puzzle. The compelling
economic evidence on the economic gains and social benefits of migration sits awkwardly with stark political
opposition to immigration. Respondents to political opinion pc::-lis rate the arrival of immigrants in their countries
as among their worst fears. Citizens worried about what migrants and refugees would do to jobs and wages,
welfare programs, crime, schools, and their national identity. Frustrated by the public’s disregard of their
empirical findings, many economists attnbute pmht:cal ﬂpp{}SltJ{‘:«ﬂ to cultural and social factors, including
xenophobia. g L

97  From the lines “These g EELIFIS remam Iargely nntmnal because most people cannot move™ it can be inferred
that | | -
(A) People are made to move to other countries against their wishes.
(B)  Theoretically migratmn IS Ilke]y to look like a boon to many.
(C) People migrate to another country only with the intention of gains.
(D) Any form of gains for the mlgrants 1s only temporary and permanent.
98  The statement frnm the passage "The gains for immigrants do not come at the expense of host countries.’
means - -
(A) The immigrants ¢an make a comfortable living only if the host countries agree.
(B) The immigrants are contributing to the host countries and not the other way.
(C) The host countries do not have to make any sacrifices to accommodate immigrants.
(D) The host countries will have to spend a lot of their resources to maintain immigrants.

99  Which of the "%lidwing words from the last sentence in the passage conveys the following meaning
“Dislike of or prejudice against people from other countries™?
(A) Frustrated (B) Disregard (C) Empirical (D) Xenophobia

100 Which of the following can be inferred from the statement “Because good jobs are slow to come to the
poor, the poor must move to find pmductwe employment™?
(A) Productive employment is not in the reach of the locals from host countries
(B) Economically sound people have greater chances of finding lucrative jobs
(C) To find profitable employment one should not be an immigrant in a host country.
(D) Poor people have no chance of getting a lucrative job in their own country.
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